Kazu Sagashi Puzzles by Naoki Inaba

Level 1: Find the 2 x 2 square which holds the specified number of apples.

IIIIIIIII

llllll

IIIIIIIIIIIIIIIII

IIIIIIIIIIIIIIIIII

IIIIIIII

IIIIIIIII

111111111

IIIII

lllll

|||||||||||||||||

""""

[ R S ——

lllllllllllllllllll

|||||||||||||||||||||




IIIIIIIIIIIIIIIIIIIIIIIIIII

Level 2: Find the 3 x 3 square which holds the specified number of apples.
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Level 3: Find the 2 x 2 square which holds the specified number of apples.
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which holds the specified number of apples.

el 4: Find the 3 x 3 square
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Level 5: Find the 2 x 2 square which meets the specified requirements.

I
|
i O
I ! H—r 1
-|||I_|||l_||||_ I ! —lIIlI_l|||+ IIIIIIII I —
I " I I I _ I _ N
I ! v pm———t———t———t ——— 4o 1 _ 1 | o
X I oo | | oo | | | | | oD
———fq 15 I 105
F . 1 . © _ g pe——d -ttt ——d  ©
I I I
_.. .." m\u F=——t———T———t——= 0 m/u _. .. ..“ n__u
I | 1 9]
g @ i | 2 1T bt
_ - .3 ! s
I I N L |
I F———- I
_.~._.._ < | < _ ;<
SRR e ee | ettt
I 1
MR ISR By | ___J | .. ._
|
|
||||||||| | oL __LlL___1
r——==T=== |_||||_|||I_||||m
I
[ | | _ I
e e s | ! p———t———t———d .__.III|“
| ! ) [ _ n 1 )
I g t———t——F -4 49 I g
! g I X 1 I
—-Illl_-llll_lllll— (¢0] 1 I (¢0] —IIII'.IIIII__I IIIIIIIIIIIII | ©
o | ) _ e
I
2| e — J _ |
DO ] Y
p——t——a1— |“ m. _ “ m. f———t———t———t——— .._-........L_ m.
I I
| = R e S S J o _ I =
: L _ L < _ L <
||||| L __-L___1 : . . .. I —_——te
[ _ I !
|||||||||||||||||| J i I
. I
bl __d___1___1




Apples < Oranges

Apples > Oranges
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Level 6: Find the 3 x 3 square which meets the specified requirements.

Apples = Oranges
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Apples > Oranges

Apples = Oranges

Apples < Oranges
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Difference Between Apples and Oranges is 2
Difference Between Apples and Oranges is 1
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Level 7: Find the 3 x 3 square which meets the specified requirements.

Difference Between Apples and Oranges is 1
Equal Number of Apples and Oranges
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Equal Number of Apples and Oranges

Difference Between Apples and Oranges is 2




